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Individueller Tutor

* |deal: 1-zu-1 Betreuung von
Lernenden durch Tutoren

* verfolgen den Lernfortschritt,

e stellen sich individuell auf die
Bediirfnisse ein und

e erstellen individuell die nachsten
Lektionen

* Problem: skaliert nicht
* Losung (wie immer): Technologie!
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Intelligent Tutoring Systems

* Was macht denn ein Tutor/HiWi?
e Gesprachspartner
* Gibt Feedback auf Ubungen
* Korrigiert Klausuren

-9
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Ethel

* Erste Experimente zum breiten Einsatz von LLMs an der ETH Zirich

* Frahlingssemester 2024

* Sechs Kurse mit 1500 Studierenden
* Grundlagenfacher Mathe und Physik

* Computer Science
* Examen: Thermodynamik, Mathematik

* Drei Funktionen:
* Gesprachspartner -> Custom Chatbot
 Gibt Feedback auf Ubungen -> Haustibungsfeedback

’ * Korrigiert Klausuren -> Assistenz bei Klausurkorrektur
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Custom Chatbot
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“The Web”

ETH Al CENTER
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Course Bots
ETH:zurich EPFL
Ethel /' €00ot/

Custom Chatbots for Courses

You can leave thumbs-up and thumbs-down feedback. Note that while this will store
information anonymously, it will record the complete dialogue, so do not reveal any private
information. If you wish to know where Ethel got its information from, you can click on the
book icon to see background information. Please note, retrieving this information may take
some time.

Chatbots are available for the following courses:

* Anorganische Chemie 1 (Patrick Steinegger und Hansjérg_Gratzmacher)
* Anorganische Chemie 3 (Antonio Togni)

« Big Data (Ghislain Fourny) [Map]

» Big Data (Ghislain Fourny) [experimental: focus on reasoning, but slower]
o Mathematik I/ll (Alexander Caspar) [Map]

o Mathematik I/II/1ll (Laura Kobel-Keller)

Organische Chemie I/l (Carlo Thilgen)
Physik I/ll (Thomas Ihn) [Map]

Programming _for Engineers
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In that example of the table with the lights, which one

WELLENLEHRE, ELEKTRIZITAT UND MAGNETISMUS s nTet

Laser In the example of the table with the lights, which light
comes on first depends on the direction of the observer's
motion relative to the table.

7 Y ¢
} 3 « If the observer's velocity 3 is positive (moving in the
same direction as the light towards the green lamp),
then the green lamp comes on first.

& ! « If the observer's velocity 3 is negative (moving in
_ K the opposite direction towards the red lamp), then
(O A > the red lamp comes on first.
¢ v Thus, the order in which the lamps come on is dependent
Rote Lampe Strahlteiler Griine Lampe on the direction of the observer's motion relative to the
table, demonstrating the relativity of simultaneity.
S8 — = <
Would not the red light appear green when | am moving

toward it, so the observer would always see a green light
coming on first?

Abbildung 5.7: Der Tisch, wie er vom Beobachter K’ gesehen wird. Der

dass die rote Lampe sich vom Lichtstrahl entfernt, und dass die griini  The observation of the color of the light is a separate
Lichtstrahl nahert. phenomenon from the order in which the lights come on.
The color of light can indeed shift due to the Doppler
effect, which describes the change in frequency of a
Beachte: Wegen des Postulats der Lichtgeschwindigkeit breitet} wave in relation to an observer who is moving relative to
serpuls in beide Richtungen des Tisches mit derselben Geschwine¢ —the wave source. When moving towards a source of light
' (such as the red lamp), the light's frequency appears to
increase, shifting towards the blue end of the spectrum

(hlna ehift\ Canuvarcahs mnvina awav fram a linht ennirra

! / £
TLicht1 = Cl} TLicht2 = —Cly W % S

Die Lichtstrahlen treffen zu den Zeiten ¢} bzw. tj bei den Lampen ein: | |... ‘
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1. Die Ausbreitungsgeschwindigkeit nimmt mit der 7
ist, desto schneller kehren die Massenelemente in

2. Die Ausbreitungsgeschwindigkeit nimmt mit der
ist, desto langsamer kehren die Massenelemente i

1.2.9 Energiedichte

Wir wollen uns nun der Energiedichte dWW/dV von
men. Diese setzt sich aus der kinetischen Energiedi
Energiedichte dE,;/dV zusammen, welche die poten
der einzelnen Massenelemente des Mediums untereinar

Mit den Ergebnissen aus dem vorherigen Abschnitt ko
dichte einer transversalen Seilwelle &(z, t) herleiten.

Aus dem Physik I Kurs ist bekannt, das die kinetische
der Welle gegeben ist durch

1 :
di = §1>2(lm.

" O&(x,t . . . :
wobei v = ’55)—',) die Geschwindigkeit des Masseneleme

Mit der Beziehung fiir die Massendichte p = % folgt £

dr _1 (9’
avs 2° ot

Wir werden nun die elastische Energiedichte dE,;/dV
spannung S = F'/A wirkt, ist die in einem um die Léng

ocnonnicharta natantinlla Pnarain ananhan duvcsh AL . —

ETH Al CENTER

Explain that example about waves on a rope; | don't get what that "dm" is about.

The term "dm" in the context of the wave on a rope example represents a small mass
element of the rope. When waves propagate in a medium like a rope, the energy of the
wave is distributed among small pieces or elements of that medium.

In the given example, they're considering a small segment of the rope with mass "dm".
This segment is small enough that it can be treated as a point mass for the purpose of
calculations, but large enough that it contains a very large number of atoms so
macroscopic quantities like mass can still be defined.

The kinetic energy of this mass element "dm" is given by the equation
1
dT = —v*dm,
2
where v = % is the speed of the mass element, and &(z, t) is the displacement of

the rope at position & and time ¢.

The kinetic energy density (kinetic energy per unit volume) is then obtained by dividing
this kinetic energy by the volume of the mass element, which is dV. With p = %‘ as the
mass density of the rope, the kinetic energy density becomes

d_T_1<§2
av -~ 2 at)'

I hope this clarifies the role of "dm" in the energy calculations for a wave on a rope. Let
me know if you have any further questions!

The "v" in your answer seems different from the "v" we got out of the partial differential

equation for eta(x,t) - is that the velocity of the wave?

Yes, the "v" in the context of the equation for £(z, t) is indeed the velocity of the wave,
more specifically, the phase velocity. This is the speed at which a particular phase of the
wave (for instance, the crest) propagates in space. It can be represented by the equation
v = ¥, where w is the angular frequency of the wave and k is the wave number.

In the kinetic energy equation, v represents the speed of the small mass element "dm" of
the rope, which is a function of time and position on the rope and is related to the
displacement of the rope.

These two "v"s, while represented by the same letter, refer to different concepts. The
context should make it clear which one is referred to.
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Course Bots
ETH:zurich EPFL
Ethel /' €00ot/

Custom Chatbots for Courses

You can leave thumbs-up and thumbs-down feedback. Note that while this will store
information anonymously, it will record the complete dialogue, so do not reveal any private
information. If you wish to know where Ethel got its information from, you can click on the
book icon to see background information. Please note, retrieving this information may take
some time.

Chatbots are available for the following courses:

* Anorganische Chemie 1 (Patrick Steinegger und Hansjérg_Gratzmacher)
* Anorganische Chemie 3 (Antonio Togni)

» Big Data (Ghislain Fourny) [Map]

Big_Data (Ghislain Fourny) [experimental: focus on reasoning, but slower]
Mathematik I/ll (Alexander Caspar) [Map]

Mathematik I/1I/11l (Laura Kobel-Keller)

Organische Chemie I/ll (Carlo Thilgen)

Physik I/ll (Thomas |hn) [Map]

Programming _for Engineers
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Ethel

GPT-4

Tells you

what to
consider

Design a replicating database with 20 nodes for multimedia

objects with approximately 50 MB each and associated

metadata.

Designing a replicating database for multimedia objects and
their associated metadata involves considering several
factors to ensure reliability, availability, and performance.
Here is a step-by-step approach to designing such a
database system with 20 nodes:

1. Choose a Suitable Database System

For multimedia objects and metadata, a NoSQL database
like Cassandra or MongoDB can be beneficial due to their
scalability and flexibility with large volumes of unstructured
data.

2. Database Schema Design

« Multimedia Objects: Store the actual multimedia files
(e.g., images, videos) possibly in a distributed file
system or as BLOBs (Binary Large Objects) within the
database.

Metadata: Create a table or collection to store
metadata associated with each multimedia object. This
may include fields like object_id, file_type, size,
creation_date, owner, and any other relevant
attributes.

3. Data Distribution

« Partitioning: Use consistent hashing to distribute
multimedia objects and metadata across the 20 nodes.
This helps in evenly distributing the data and in scaling
the system.

« Replication Factor: Set a replication factor, for
example, 3, meaning each piece of data (both
multimedia object and metadata) is stored on 3
different nodes. This ensures high availability and fault
tolerance.

4. Replication Strategy

+ Asynchronous Replication: To improve write

narfarmanca 11ea acunrhranniie ranlicatinn amnnn tha
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GPT-o01

WELES

design
decisions

Design a replicating database with 20 nodes for multimedia

objects with approximately 50 MB each and associated

metadata.

Designing a replicating database with 20 nodes to store
multimedia objects of approximately 50 MB each, along with
their associated metadata, involves several steps. Let's walk
through the design process step by step.

1. Requirements Analysis

* Multimedia Objects: Approximate size of each object
is 50 MB.

Metadata: Associated with each multimedia object.
Number of Nodes: 20 nodes.

Replication: Required for fault tolerance and high
availability.

2. Choosing the Storage System

Given the size of the multimedia objects and the need for
replication across multiple nodes, we can utilize a distributed
file system. The Hadoop Distributed File System (HDFS)
is a suitable choice because:

« It handles large files efficiently.

« |t provides data replication for fault tolerance.

« |t's designed to run on clusters of commodity
hardware.

3. Configuring Block Size

In HDFS, files are split into blocks for storage.

o Default Block Size: 128 MB.

« Our Adjustment: Since our files are 50 MB, we can
set the block size to 64 MB to improve storage
efficiency.

4. Setting Replication Factor

Replication ensures that data is not lost if a node fails.

« Replication Factor (R): Set R = 3.
o This means each block will have 3 replicas

IHF Talk Series| Okt. 2024



Ethel

e Betrieb kostete durchschnittlich
EUR 7.80

pro Studierender pro Kurs pro Semester fur Inference durch GPT-4 via
Azure Al Services

* Inference kostet immer Geld, auch bei Open-Weight Modellen!
* Irgendwo mussen die ja laufen (wird immer vergessen!)

-9
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HausUbungsfeedback
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Hausubungsfeedback

* Studierende laden handschriftliche Hauslibungen als Scans hoch
 System gibt Feedback

@

The energy
balance is
Qbut=

m (hout'him) =
me (Tout:rf,m)

<

J

-9
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Handwritten
Homework

D
3
e

The energy
balance s
Q‘Dut=

m (hou’c_hiw) =

moe T-out:riw)

PDF

The energy
balance is
$Q {out}=
m(h {out}-
h {in})=

mc (T {out}-
T {in})$

The solution
correctly

describes
wthe neat
exhausted ...

PDF
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“‘_‘L (B{J&T*‘AA'LC« V) Sle‘lb &r’ésw O/ -(alLs V(O,chrs\( uewwM vou ‘6)
Bez. Tide: Roumwmscdibf — ik signale vt deey .@';/{/Wp

o= Ry Studentische Losung
Ak do Ede awallk er Lest wit  de Treg { Ve

A- P
= | = fo = (o
£4 A P 2.4 Problem 4

Lo
v “The student’s solution approaches the exercise correctly, but there are several

Mit des Sumeme 5= &0 —
Act e Qdaeice ! discrepancies and wrong calculations.
a) The student correctly identifies the frequencies of the signals detected
‘u = 1 ¢ 'Qo = ( A+ from brother A in both parts of the trip (when moving away and towards Earth).
¢ The Doppler shift formula is used accurately addressing both cases, however,

the equalities

4

fi=1Q=B)fo and fi=(1+5)fo

Al feedback are incorrect since the Doppler shift factor should be precisely

’ respectively, as correctly stated in the sample solution’s equations (26) and
ETH Al CENTER (27).



Hausubungsfeedback

Gab auch ein paar Problemchen mit GPT-4V:

s st oo @ st Jedod d3,@)>dE@E),

FIG. 3. Example of a snippet of a student solution that GPT-
4 refused to process with the error message “the response was
filtered due to the prompt triggering Azure OpenAl’s content
management policy.”

-9
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Hausubungsfeedback

Behoben mit GPT-4o0:

Aos sl vee @) ih 'Jzoloc\ d@.a@)> E@3) |
from the perspective of (1), however, d(1, 2) > d(2, 3)

-9
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Hausubungsfeedback

* Studierendenfeedback auf Hausubungsfeedback:
* Hilfreich, obwohl manchmal falsch
* Groldtes Problem: Handschrifterkennung
* Vorwurf: hangelt sich zu eng an der Musterlosung entlang

* Gesamtfazit jedoch einhellig: bitte weiterfihren!!!

-9
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ETH:zurich

Assistenz bei
Klausurkorrektur

9

ETH Al CENTER IHF Talk Series| Okt. 2024



Datensatz

* Thermodynamik-Klausur
e 252 Studierende
* Vier mehrteilige Aufgaben

* Handgeschrieben mit

Formeln, Graphen, Diagrammen

e 3041 Seiten mit Handschrift

* Durchschnittlich 12 Seiten pro Studierender AU = Amen (

* Benotet auf Rubrik
e 85 Rubrik-Iltems

-9
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ij: . EU Artificial
“  Intelligence Act

«— Back to index

[Z] Copy URL

Part of Chapter lll: High-Risk Al System = Section 1: Classification of Al Systems as High-Risk

Article 6: Classification Rules for High-Risk Al Systems

Date of entry into force: According to:
2 August 2026 (2 August 2027 for Point 1) Article 113

See here for a full implementation timeline.

SUMMARY . . . .
(b) Al systems intended to be used to evaluate learning outcomes, including when those

outcomes are used to steer the learning process of natural persons in educational and

vocational training institutions at all levels;
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s EU Artificial
<=+ Intelligence Act

«— Back to index

ETH Al CENTER IHF Talk Series| Okt. 2024



Kollaboration
HiWi-KI
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Workflow

D The energy
The eneray ;—:fae""ir,gU balance is
WCeé LS = . .
balawce s &, .= igﬁfigﬁ}- Al-Scoring Statistical
i) = (i) = n{inp)= Evaluation
0 (Tow-Tin) e (Tou-T) $C§i5§§;t}_
G—/ Vv —_—
Handwritten PDF LaTeX v .
ke a™
v — Refine
Rubric

Confidence
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Rubrik
fur
Aufgabe 1

ETH Al CENTER

Item

Initial | First Refinement | Second Refinement

1_a_balance

Maximum credit (100%) for correct energy balance around the reactor to calculate the heat flow to the cooling jacket Qqus. The correct
equation is 0 = mem - hein — Maus * haus + Qr — Qaus- Maximum credit can also be awarded for the simplified equation Qgus =
m - (hein — haus) + @ r. Maximum credit can also be given for equivalent equations. Less credit for minor errors.

1_a_h_ein Maximum credit (100%) for correctly calculated value of hein, = 292.98kJ kg_l. Less credit for minor numerical errors.

1_a_h_aus Maximum credit (100%) for correctly calculated value of hqqs = 419.04kJkg~!. Less credit for minor numerical errors.

1.a_Erg Maximum credit (100%) for correctly calculated value of Qqus = 62.18 kW . Less credit for minor numerical errors.

1.b_T_KF_Tds Maximum credit (100%) for correct derivation of the thermodynamic mean temperature of the cooling water flow Txr. The correct

equation is T p = bq% Maximum credit are also awarded if gqus is already exchanged with hqys — hein. Maximum credit can also
aus ~Sein
be given for equivalent equations. Less credit for minor errors.

1_b_Stoffmod_h

Maximum credit (100%) for correct usage of the ideal fluid model for the entropy to calculate hqus — hein. The correct equation is
haus — hein = if . (Taus — Tein). Maximum credit can also be awarded if the equation is already inserted in the thermodynamic mean
temperature equation from item 'b_T_KF_Tds’. Maximum credit can also be given for equivalent equations. Less credit for minor errors.

1_b_Stoffmod_s

Maximum credit (100%) for correct usage of the ideal fluid model for the entropy to calculate squs — Sein. The correct equation is
Saus —Sein = ¢/ - \1n \left \frac{T_{aus}} Maximum credit can also be awarded if the equation is already inserted in the thermodynamic
mean temperature equation from item 'b_T_KF_Tds’. Maximum credit can also be given for equivalent equations. Less credit for minor
errors.

1.b_Erg Maximum credit (100%) for correctly calculated value of dotT i = 293.12K . Less credit for minor numerical errors.

1_c_Bilanz Maximum credit (100%) for correct entropy balance for calculation of entropy production due to heat transfer between reactor and cooling
jacket. The correct equation is 0 = T}iiﬁ — % + Serz. Maximum credit can also be given for equivalent equations. Less credit for
minor errors.

1.c Erg Maximum credit (100%) for correctly calculated value of Ser, = 0.0455 kW K—1. Less credit for minor numerical errors.

1d.uf Maximum credit (100%) for correctly calculated value of uy = 418.94kJ kg~!. Less credit for minor numerical errors.

1dug Maximum credit (100%) for correctly calculated value of ug = 2506.5kJ kg~ . Less credit for minor numerical errors.

1du-l Maximum credit (100%) for correct equation for the inner energy uj. The correct equation is u1 = xp - ug + (1 — xp) - uy. Maximum
credit can also be given for equivalent equations. Less credit for minor errors. The maximum credit can also be awarded if the correct
value for u; = 418.94kJ kg71 were calculated. Less credit for minor numerical errors.

1.d.u-2 Maximum credit (100%) for correctly calculated value of us = 292.95kJkg™! . Less credit for minor numerical errors.

1_.d_h_eind Maximum credit (100%) for correctly calculated value of hei, = 83.96kJkg™! . Less credit for minor numerical errors.

1_d_Bilanz Maximum credit (100%) for correct energy balance in an open system for determining added water mass Amjs. The correct equation
is (Mges,1 + Ami2) - U2 — Mges,1u1 = Amizhein — Qaus,12 + Qr,12. Maximum credit can also be awarded for the simplified equation
(ngSJ + Ami2) - ug — Mges,1U1 = Ami2hesn. Maximum credit can also be given for equivalent equations. Less credit for minor errors.

1.d_Erg Maximum credit (100%) for correctly calculated value of Amia = 3756.84 kg. Less credit for minor numerical errors.

lesf Maximum credit (100%) for correctly calculated value of sy = 1.3069kJ kg™ T K—T . Less credit for minor numerical errors.

les.g Maximum credit (100%) for correctly calculated value of sy, = 7.3549kJ kg~ ' K~T . Less credit for minor numerical errors.

les.1 Maximum credit (100%) for correct equation for the entropy si. The correct equation is s1 = zp - ug + (1 — zp) - uy. Maximum credit
can also be given for equivalent equations. Less credit for minor errors. The maximum credit can also be awarded if the correct value for
s1 = 1.3371kJ kg_1 K1 were calculated. Less credit for minor numerical errors.

les2 Maximum credit (100%) for correctly calculated value of sy = 0.9549kJ kg~ I K—T . Less credit for minor numerical errors.

1_e_Bilanz Maximum credit (100%) for correct entropy balance. The correct equation is AS12 = (Mmges,1 + Ami2) - s2 — Mges,1 - s1. Maximum credit
can also be given for equivalent equations. Less credit for minor errors.

1e Erg Maximum credit (100%) for correctly calculated value of AS12 = 1387.62kJK ! . Less credit for minor numerical errors.
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Studierender mit “Ability” Theta
korrekt l0st

* [tem Response Theory:
* Wahrscheinlichkeit, dass ein

* Bayesian statistics
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Ergebnis 60

Correctness >=0.1
Uncertainty <=0.5
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HiWi Punkte
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Kosten

* Die Kosten betragen derzeit 7 Euro pro Prifung.
* Wenn nur 21% der Noten akzeptiert werden, sind das 35 Euro pro
erfolgreicher Bewertung. &

e ... aber das sind 10 Bewertungsdurchlaufe ... Gbertrieben.

* Esist bereits klar, dass eine Anpassung der Anzahl der Durchlaufe ausreicht, vielleicht:
nach drei Gbereinstimmenden Durchlaufen fortfahren

* nach funf nicht Gbereinstimmenden Durchlaufen aufgeben und an einen Menschen
weitergeben

 Andererseits:

* Wie lange braucht ein HiWi, um 12 handgeschriebene Seiten mit einem 85-
Punkte-Rubrik zu bewerten?
* Was wird dem HiWi bezahlt?

IHF Talk Series| Okt. 2024
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Was jetzt passiert

9
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“The Web”
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Masterarbeit

Beispiel 1

Verifiziere Stokes d.h. 560 F.dr = ffs rot F - dS
fur F(Ivya Z) = (Z - Yz, —.’L‘)
und S = {(:zz,y,z) |22+ 92 +22=4,2> O}
Standardparam. von S: r(¢,6) = (2cos¢sinf,2sin ¢sinb, 2 cosf)
n=ryxry, 7< P, 0<60< 7
Konstante Param. von C: r(t) = (2cost,2sint,0), 0 <t <27

on [ —2sint —2sint
]{F-dr:/ 2cost .| 2cost | dt = -8«
C 0 0

—2cost

(Beschreibe hier die Grafik, die eine parametrisierte Flache S und eine
geschlossene Kurve C zeigt, sowie die Vektoren und Orientierung.)

An der Stelle des Kommentars "(Beschreibe hier die Grafik, ...)" solltest du eine Beschreibung der Grafik

G PT-4V einfligen. Diese Grafik zeigt eine parametrisierte Oberflache S, welche als Halbkugel mit Radius 2
dargestellt ist. Die geschlossene Kurve C' entspricht dem Kreis am Aquator der Halbkugel, positiv
orientiert (gegen den Uhrzeigersinn, wenn man von oben auf die x-y-Ebene blickt). Die Vektoren ry und

’ Iy sind Tangentialvektoren an die Flache, und der Vektor n zeigt senkrecht aus der Oberflache heraus

ETH Al CENTER und dient als Normalenvektor.



... then later complains that this
should be 8 instead of —8m

Unfortunately, some minor hallucinations

Beispiel 1

Verifiziere Stokes d.h. 560 F.dr = ffs rot F -
fur F(Z’,y, Z) = (Z - Yz, —.’L‘)
und S = {(:zj,y,z) |22+ 92 +22=4,2> 0}
Standardparam. von S: r(¢,6) = (2cos¢sinf, 2
n=ryxry, 7< P, 0<60< 7
Konstante Param. von C: r(t) = (2cost,2sint,0),

o EPsint —2sint
]{F-dr:/ 2cost - | Rcost | dt = =8«
c 0 —2cost 0

(Beschreibe hier die Grafik, die eine parametrisierte Flache S und eine
geschlossene Kurve C zeigt, sowie die Vektoren und Orientierung.)

An der Stelle des Kommentars "(Beschreibe hier die Grafik, ...)" solltest du eine Beschreibung der Grafik
GPT-4V einfiigen. Diese Grafik zeigt eine parametrisierte Oberflache S, welche als Halbkugel mit Radius 2

dargestellt ist. Die geschlossene Kurve C' entspricht dem Kreis am Aquator der Halbkugel, positiv

orientiert (gegen den Uhrzeigersinn, wenn man von oben auf die x-y-Ebene inckt).|Die Vektorenry und |
’ |r9 sind Tangentialvektoren an die Flache, und der Vektor n zeigt senkrecht aus der Oberflache heraus |
ETH Al CENTER lund dient als Normalenvektor.| ?????




Laufendes Projekt

« Situationsbedingter Rollen-
oder sogar LLM-Wechsel:

 Coach
e Lecturer
» Study-Buddy

* Wichtig: darf nicht durch
unverhaltnismallige
Padagogik nerven!

* GPT ist nur einen
Mausklick entfernt!

Was Ethel im

Moment macht

-9

ETH Al CENTER

Why would it not matter if you put the
axis in the center or attach it to the side?

Because it’s the same obiject, so it has

% the same moment of inertia.
(a'
<
©
o Think about the parallel axis theorem
O from lecture
Yeah, that was just some long derivation,
no idea what that was about. Can you
explain it to me?
o The moment of inertia of any object
e about an axis through its center of mass
'f is ...
)
S
>S5
)
(@]
()
-
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Semesterprojekt

Give me an exercise on scalar
derivatives of a vector

What is the derivative of

with respect to 17 4tA2,8tA7
You need to multiply with the original exponent.

( submit Answer ) Incorrect. Tries 1
’7 e aur LON-Capy
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Laufendes Projekt

» Feedback zu Haustbungen
als Jupyter Notebook

ETH Al CENTER

PartB

Aufgabe B (3 Punkte)
Schneiden Sie das DataFrame df auf den Bereich zu, in dem die Eintrége der Spalte ‘Parameter dem Wert RainDur’, d.h. Regendauer, entsprechen und wo die Eintréige der Spalte ‘Standort’ der Messstation ‘Zch_Rosengartenstrasse" entsprechen.
Legen Sie die Spalte ‘Datum’ als Index fest. Hierdurch wandeln Sie das DataFrame in eine Zeitserie um. Geben Sie das umgeformte DataFrame unter der Variable df_regen zuriic

The student's code for Aufgabe B aims to manipulate a given DataFrame by filtering and
reformatting it according to specific criteria outlined in the problem statement. Here's an
assessment of how the provided code matches the requirements:
Code Analysis and Requirements Check

1. Filtering DataFrame:

o The code uses a conditional filter: df[(df['Parameter'] == 'RainDur') &
(df['Standort'] == 'Zch_Rosengartenstrasse')] to harrow down the DataFrame
to only include entries where the 'Parameter' column has the value 'RainDur’
and the 'Standort' column has the value 'Zch_Rosengartenstrasse'. This
meets the requirement to filter the data based on specified conditions.

2. Setting the Index:

o Thedf_regen =df_regen.set_index('Datum’) line sets the 'Datum' column as
the DataFrame index, converting the DataFrame into a time series format.
This aligns with the requirement to use the date as the index.

3. Returning the Modified DataFrame:

o The function correctly returns the modified DataFrame df_regen, which only
includes the relevant entries based on the specified conditions and has the
date set as the index.

Code Corrections Needed
The code itself appears functionally correct for the specified task, but there are a couple of
issues to address:

e Variable Reference:

o The student uses df_wetter inside the function aufgabe_b, but the input
parameter is named df. This might be a typographical error, and the variable
used inside the function should match the function’s parameter.

So, df_wetter should be replaced with df.



“The Web”
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Laufendes Projekt

* Fine- Tunlng basierend auf Llama 3.1 und Vorlesungsauszeichnungen

[ R —_— I —
h-~\ JET ‘ Qr—)':r!f'ff:jfﬁ?:'f:; e S A
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